MORE EXAMPLES OF SECTIONS 1.1

Question 1. Solve the linear system:

z + 3y + 2z = 2
20 + Ty + Tz = -1
2 + oSy + 2z = 7

SOLUTIONS.

1. Subtract twice the first equation from the second one and replace the
second equation by the result to get

z + 3y + 2z = 2
y + 3z = =5
2z + Sy + 2z = 7

Subtract twice the first equation from the third one and replace the third
equation by the result to get

z + 3y + 2z = 2
y + 3z = -5
-y + -2z = 3

Adding the last two equations

z + 3Jy + 2z = 2
y + 3z = =5
z -2

Multiply the third equation by —3, add to the second one and replace the
second equation with the result to get

z + 3Jy + 2z = 2
y =
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Multiply the third equation by —2, add to the first one to obtain

r + 3y = 6
Yy = 1
z = =2

Multiply the second equation by —3 and add to the first one to finally obtain
x = 3

z = =2

So the solution of the systemis z =3,y =1, 2 = —2.



